Spelling Maze

Use your ‘ough’ letter string spellings to find your way out of the maze. Only nine
of your spelling words have been used. Which one is missing?

h d r o u g h t b o u g b|r g h t|lw r
grng h|t|boughtbu?wto
u glu glh|t b o|lu g |t b r o u g hj|r
o u g|b]|t h|t b o r o ufu o u g h t w
r b t h g h t b o r o u g h t h o u
olhfo b o u g h t blo r o|lu g|[h o u g
h o roro|ugbob|o ro|hthou
t h of|r o roughtboroh|t|ho
t t|lgluflu|lw r g| tlh t blo u g h t h
hTuo t w r o u g h t b h t hlo
tT‘ h]lh|[h t w r thtbohth|ou
h|g h g|t|l]g h t w r o u g h|t|lu|o uft
g uTu hlu g h t w r|lo|lb o r oflu g h
uo|looo|u gw|rTb t|boroTt
ul|l plg ulr olu g h t|lo|h t|b ng h
olp t h g|lb r o u g|w|r|g h t b ofu g
}b o u g h t blu g h twu|t b o r o]r
o|u|g|htbrougwroughtbo
« ¥ .

¥ Challenge Task 1

Which of the words haven't you used? Could you write a sentence using the missing ‘ough’ word and
a modal verb?
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Nuugh#bughtwu|tboror
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¥ Challenge Task 1

Which of the words haven't you used? Could you write a direct speech sentence using the spare word?

Accept any sentence that contains the word ‘bough’ and a modal verb, e.g. The bough of the tree may have

been damaged in the storm.
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